


S8 DRk S £ A MM

i SR

EREESFT]

TEBTRAARAAEF2 B ER(LE)

BB L ts b
(REWA R

S



BHERS B (CIP} HE

SR /P ERTROA RS T HERERITER( L% R

% . - b EEME AR, 2007, 5
( 1835 & BT B )
I1SBN 978 7-81098-9510/F - 003

I. & I A M. &8-3%HE-#4 V. H31
o AR 4 CIP HdlR 2 52( 2007 ) 55 057162 &5

O sfI4mig b
O #HmEiRit AIRE

JINRONG YINGYU XUEXI
T BMREEFE
PEMBTREERA CVIERSRUHER( L)  RE
(NEREAT)

L 7 R R A IR B AT
(EBHRARE32] 52 bpE 200434)
] it hilp /7 www. sufep. com
o8 FHE#S ; webmaster @ sufep. com
I MR A E B ELRI TR
L ¥a L B B ER) T
2007 425 BET 1 R 2007 4E S H B8 1 3ENF

890mm x 1240mm 1732 7.5 I3 194 T2
ENL.0 001 —6 000 &54r:20.00 3%







B &P

A F 2008 £ RELRPEYAKN MY RTRAE |

HR2, R E . B RATHRE R Ry Ak 2008 4 R
B —RATAENHE, WEREFR RN, B RE AN
o

AT R ERRERE, §ZRATEEKEXE,

REXBRESHMARRLMANLEEH R RAR T |

BB A 5 2R G Ao B R ACE W0 R 2 & R
G HA-FRABTERENEBCES S, PERTL
REFR-ABRLERE FERAIEF RFEIRHESFA
ORI, Hib, PERITROARAXAE R & BFH
(L) RE T RESRAE R B M
EEHMAE(REGTHESLE) (LERA).
(REAFREERAREIF(SBIEEET), S M5

PR



MO B OB R

& B

A ABEME, ARER, MEAEHEMFH TR TR
RETHRN BRABSRE, A ERER - RARTEHT
o

BIERK
ik

2 wvz?

HEJITRAHARA A

2007 5 H



%

%TE%%%EE%%%%ﬁ%E%W%%*E?
ﬁﬁ%ﬁ%ﬁ&%Aﬁﬁ%%%ﬁ%%%%%éﬂMﬁ}

BET(omEEEI)—H,
KEHBHETET:
o WEyBHH-FFLeBRIER T HRER;
s HEBAREEBEEHFALEARTD;

o« AHEARATHERAFEAEELSEF |

By K iR,

AF BRI ARA L RATAST, G 8
TEKRUGTLAA %, EINERHHSBALS AL |
GES NN YRS L P PR LS

—EAET SEHER UEEH EFR S,

KSR T Y EESBISA AN LRI RS |

EEEEE.

M



X ' =

B U o B A R AT S KW B A
o
A HERENE 2F IXZAEAEEALT.

@ B 8

Y|

ERGIES, RATFERAEAREANEZRTH
L ORA KRR R R E ., BT R AR,
FRRAAHRE R, REEZRITHE,

HERIT R H IR F E RS REHER (L)
2007 £ 5 A



23

33
35
37

40 -

42

Contents B

Contents B &

Unit1 Grammatical Structure EiEZE#

&

Part I Choose the one word or phrase that best completes

each of the following sentences

BE e AT

Part T Find and correct the underlined part that is incorrect

or inappropriate

ENiEE L

Unit2 Cloze Test

Passage 1
Passage 2
Passage 3
Passage 4
Passage 5

Checks

Personal Financial Statements

Discounted Cash Flow

Coupon

Insurance

SRR
-

B
R B

BB LBE b oo

BRI SR BT

R ST RIZEER A AR BY

OFNCES &S




QR Contents BR

46
50
54

39
61
64

68

71
73
77
81
84
88
91
94
100
104
108
111
114
117

Passage 6
Passage 7
Passage 8-

Role of Investment Bankers R E4RITRIIHGE
Certificates of Deposit FFH
Interest Rate Risk  F) 38 XS

Unit3 Reading Comprehension [i5IE#E

Passage 1

Passage 2
Pussage 3

Passage 4
Passage 5
Passage 6
Passage 7
Passage 8
Puassage 9
Passage 10
Passage 11
Passage 12
Passage 13
Passage 14
Passage 15
Passage 16
Passage 17

Inflation (1) EHEHK(L)
Inflation (2) WEIK(2)
Auction & OTC Market 3 LT 1732
5

Risk & Return M A1li3:
Bill of Exchange j 24
Factoring RV %

The Fed IRFESECHT

The IMF  [EFr5t a4
Secured Loans JEAFHEK
Unsecured Loans {Z 1Pk
Balance Sheet YFr=fifEs=
Bond (1) fBiZ:(1)

Bond (2) {3i%:(2)

Option (1) HAFZ(1)

Option (2)  #3#X(2)

Option (3) BT (3)
Interest Rate Risk  F|Z& M &



121
125

130

162

169

Contents Bf &¥

Passage 18 Credit Risk {5 5K
Passage 19 Bull and Bear 4-TifI8ET

Unit4 Banking Business BT/ 5%
Choose the one word or phrase that best completes
each of the following sentences FEFREE TS 241 AL
BREESER AT

Suggested Keys SEE R

Notes ¥

woE B O

B I 3









Unit 1 Grammatical Structure i&%EEH R

Part I Choose the one word or phrase that best completes each

of the following sentences

1. Banking is a good example of an industry _ complex and
dynamic conditions exist.
A. where B. which C. what D. that

2. After the credit analyst has understood the name of a company, it is
time in detail at its audited accounts,
A, for looking  B. looking C. to look D. looked

3. Pleuse read each chapter carefully and your understand-
ing by completing the exercises which follow,
A. 1o test B. testing C. test D. tested

4. These items can often have a significant impact the finan-
cial position of the business.
A.in B. to C. at D. on

5.1t is any case worth how to treat ratings when fixing the

severity of the supervision for banks with ratings and banks without

ratings.
A. to be considered B. considering
C. heing considered D. having considered

6. In the initial stages of an industry’ s growth there are very few com-
petitors, margins are very high, and are costs because
producers have not yet learned optimal production technigues.

A, nor B. neither C. so0 D. either

7.For this reason, such issues must -he regarded as akin
foreign bounds.

A of B.io C. through D. for

T =

g3
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8. An issuer must choose 1o make a public offering or a pri-

vate placement of its securities.
Aif B. what C. that D. whether

9. Bankers have to realize they have no choice but

A act B. acting
C. to have acted D. to act
10. this trend towards globalization has made the capital

markets the most dynamic arena of financial activity in the world,
A, Twenty years ago
B. Twenty years past
C. The vear before twenty years ugo
D. Over the past twenty years

11, Extraordinary items should net be counfused with exceptional items,
the costs benefits of are taken imto account hefore tax,
A. them B. that C. what D. which

12. There are problems with the draft it stands.
A. which B. what C.as D. how

13. The way a company chooses to account for an acquisi-
tion will clearly affect the financial statements, and care should be
taken in interpreting the figures.
A.in which B. which C. where D. in that

14. The low interest rate currency trades a premium to the
high interest rate currency in the forward market.
A at B.in C.of D. on

15. In such circumstances, the investor relies on the creditworthiness
of the guarantor, not of the actual borrower.
A. those B. this C. that D. these

16. This is not likely to last much longer as the isolated nature of the
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19.

20.

21.
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Argentine predicament means the IMF and US are prepared to

A. let the country be failed

B. let the couniry alone be failed
C. let the country alone fail

D. let the country fail

Government bond markets exhibit unique features and are dis-

cussed in another workbook in this series.
A, at length B. on the length
C. in the length D. of length

. The risks in lorward transactions are the same as those in spot

transactions, the longer period of time between arran-
ging the transaction and settlement increases the likelihood of one
party defaulting prior to settlement.

A.in that B. except that

C. at that D. with that

The premium effectively increases the issue price of the original
bonds, the overall borrowing cost of the issuer.

B. thereby reducing

D. to be reduced

A, thus to reduce
C. only reducing
The rate of interest is often calied the “coupon”.
A.to pay B. having paid

C. paying D. to he paid

Central banks often intervene foreign exchange markets
to smooth fluctuations in the value of the domestic curreney, and
sometimes to attempt to reverse its trend.

A. with B.in C.on D.at

To avoid the fate of the dinosaurs, they need to continue to adapt
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23.

26.

27.

28.

29.

. You are asked to advise

the changing envirenment.

A as B. into C.to D. with
It is not cleur will happen to Japan’s NTT.
A. whether B. what C. that D. as

. We have to recognize that the overall economic environment is a-

bout as good as it is going .

A to be B. to C. to have D.to do

what further infermation is re-
quired and what you intend to do.

A on B. from C.in D. through

As pressure is mounted by the RBI to reduce non-performing as-

sets, and in the absence of effective debt recovery, banks have no

option gilts or other sale investments rather than credit.
A, but pick up B. and pick up -
C. and to pick up D. hut to pick up
, it is one of the most glamorous parts of hanking.
A. In no sense B. On all senses
C.In a sense D. On every sense
If the bank is satisfied with the risk that its analysis highlights, it

should consider the following covenants in its loan nego-

tiations.
A. to incorporate B. to be incorporated
C. incorporating D. being incorporated

As the New Year began, the UK’ s second largest bank, Barclays,
was busy a new chief executive following the abrupt res-
ignation of Martin Taylor at the end of November.

A, to look for B. looking for

C. being lovked for D. 10 have locked for



